# ON THE DYNAMICS OF A RECURSIVE SEQUENCE 

H. EL-METWALLY, İBRAHIM YALÇINKAYA AND CENGIZ ÇINAR

Abstract. In this paper we investigate the global asymptotic behavior of the solutions of the difference equation

$$
x_{n+1}=\frac{\alpha x_{n-(2 k-1)}}{\beta+\gamma x_{n-(2 k+2)}^{p} x_{n-2 k}^{q} x_{n-(2 k-2)}^{t}}, n=0,1, \ldots,
$$

where $k$ is a positive integer number, the parameters $\alpha, \beta, \gamma$ and the initial conditions $x_{-2 k-2}, x_{-2 k-1}, \ldots, x_{-1}, x_{0}$ are non-negative real numbers with $p, q, t \geqslant 1$ and $\beta+\gamma x_{n-(2 k+2)}^{p} x_{n-2 k}^{q} x_{n-(2 k-2)}^{t}>0$.

## 1. Introduction

Recently there has been an increasing interest in the study of global behavior of rational difference equations. That is because difference equations appear naturally as discrete analogues and as numerical solutions of differential and delay differential equations having applications in biology, ecology, physics, etc. See [10]. Rational difference equations is an important class of difference equations where they have many applicatio ns in real life for example the difference equation $x_{n+1}=\frac{a+b x_{n}}{c+x_{n}}$ which is known by Riccati Difference Equation has an applications in Optics and Mathematical Biology (see [8]). For more results of the investigation of rational difference equation see ( $[1]-[10]$ ) and the references therein

In this paper we investigate the global asymptotic behavior of the solutions of the difference equation

$$
\begin{equation*}
x_{n+1}=\frac{\alpha x_{n-(2 k-1)}}{\beta+\gamma x_{n-(2 k+2)}^{p} x_{n-2 k}^{q} x_{n-(2 k-2)}^{t}}, n=0,1, \ldots \tag{1}
\end{equation*}
$$

where $k$ is a positive integer number, the parameters $\alpha, \beta, \gamma$ and the initial conditions $x_{-2 k-2}, x_{-2 k-1}, \ldots, x_{-1}, x_{0}$ are non-negative real numbers with $p, q, t \geqslant 1$ and $\beta+\gamma x_{n-(2 k+2)}^{p} x_{n-2 k}^{q} x_{n-(2 k-2)}^{t}>0$.

## Remark

(i) If $\alpha=0$, then Eq. (1) is trivial.
(ii) If $\gamma=0$, then Eq. 11 is linear.

[^0](iii) If $\beta=0$, then Eq. 11 can be also reduced to a linear difference equation by the change of variables $x_{n}=e^{y_{n}}$.

The following definitions and the well known theorem A will be useful in the investigation of Eq.(1).

Definition 1 Let I be an interval of real numbers and let $f: I^{k+1} \rightarrow I$ be a continuously differentiable function. Consider the difference equation

$$
\begin{equation*}
x_{n+1}=f\left(x_{n}, x_{n-1}, \ldots, x_{n-k}\right), \quad n=0,1, \ldots \tag{2}
\end{equation*}
$$

with $x_{-k}, \ldots, x_{0} \in I$. Let $\bar{x}$ be the equilibrium point of Eq.(2).
The linearized equation of Eq. (2) about the equilibrium point $\bar{x}$ is

$$
\begin{equation*}
y_{n+1}=c_{1} y_{n}+c_{2} y_{n-1+\cdots}+c_{(k+1)} y_{n-k}, \quad n=0,1, \ldots \tag{3}
\end{equation*}
$$

where

$$
c_{1}=\frac{\partial f}{\partial x_{n}}(\bar{x}, \ldots, \bar{x}), c_{2}=\frac{\partial f}{\partial x_{n-1}}(\bar{x}, \ldots, \bar{x}), \ldots, c_{(k+1)}=\frac{\partial f}{\partial x_{n-k}}(\bar{x}, \ldots, \bar{x})
$$

The characteristic equation of Eq. (3) is

$$
\begin{equation*}
\lambda^{(k+1)}-c_{1} \lambda^{k}-c_{2} \lambda^{(k-1)}-\ldots-c_{k} \lambda-c_{(k+1)}=0 \tag{4}
\end{equation*}
$$

Definition 2 Let $\bar{x}$ be an equilibrium point of Eq.(2).
(a) The equilibrium $\bar{x}$ is called locally stable if for every $\varepsilon>0$, there exists $\delta>0$ such that if $x_{0}, \ldots, x_{-k} \in I$ and $\left|x_{0}-\bar{x}\right|+\cdots+\left|x_{-k}-\bar{x}\right|<\delta$, then $\left|x_{n}-\bar{x}\right|<\varepsilon$, for all $n \geq-k$.
(b) The equilibrium $\bar{x}$ is called locally asymptotically stable if it is locally stable and if there exists $\gamma>0$ such that if $x_{0}, \ldots, x_{-k} \in I$ and $\left|x_{0}-\bar{x}\right|+\cdots+\left|x_{-k}-\bar{x}\right|<$ $\gamma$, then $\lim _{n \rightarrow \infty} x_{n}=\bar{x}$.
(c) The equilibrium $\bar{x}$ is called global attractor if for every $x_{0}, \ldots, x_{-k} \in I$ we have $\lim _{n \rightarrow \infty} x_{n}=\bar{x}$.
(d) The equilibrium $\bar{x}$ is called globally asymptotically stable if it is locally stable and is a global attractor.

Definition 3 A solution $\left\{x_{n}\right\}_{n=-k}^{\infty}$ of Eq. (2) is called nonoscillatory if there exists $N \geq-k$ such that either

$$
x_{n}>\bar{x} \quad \text { for } \forall n \geq N \quad \text { or } \quad x_{n}<\bar{x} \quad \text { for } \quad \forall n \geq N,
$$

and it is called oscillatory if it is not nonoscillatory.

Theorem A [6]: (i) If all roots of Eq. (4) have absolute values less than one, then the equilibrium point $\bar{x}$ of Eq. (2) is locally asymptotically stable.
(ii) If at least one of the roots of Eq. (4) has absolute value greater than one, then the equilibrium point $\bar{x}$ of Eq. 22 is unstable.

## 2. Main Results

In this section, we investigate the dynamics of Eq. (1) under the assumptions that all parameters in the equation are positive and the initial conditions are nonnegative.

The change of variables $x_{n}=\left(\frac{\beta}{\gamma}\right) \frac{1}{p+q+t} y_{n}$ reduces Eq. $\int 1$ to the difference equation

$$
\begin{equation*}
y_{n+1}=\frac{r y_{n-(2 k-1)}}{1+y_{n-(2 k+2)}^{p} y_{n-2 k}^{q} y_{n-(2 k-2)}^{t}} \text { for } n=0,1, \ldots \tag{5}
\end{equation*}
$$

where $r=\frac{\alpha}{\beta}>0$. Note that $\bar{y}_{1}=0$ is always an equilibrium point of Eq.(5). When $r>1$, Eq. (5) also possesses the unique positive equilibrium $\bar{y}_{2}=(r-1)^{\frac{1}{p+q+t}}$.

Lemma The following statements are true:
(i) If $r<1$, then the equilibrium point $\bar{y}_{1}=0$ of Eq. (5) is locally asymptotically stable,
(ii) If $r>1$, then the equilibrium point $\bar{y}_{1}=0$ of Eq. (5) is unstable,
(iii) If $r>1$, then the equilibrium point $\bar{y}_{2}=(r-1)^{\frac{1}{p+q+t}}$ of Eq. (5) is unstable.

Proof. The linearized equation of Eq. (5) about the equilibrium point $\bar{y}_{1}=0$ is

$$
z_{n+1}=r z_{n-(2 k-1)} \text { for } n=0,1, \ldots
$$

so the associated characteristic equation about $\bar{y}_{1}$ is

$$
\lambda^{3}\left(\lambda^{2 k}-r\right)=0
$$

Then the proof of (i) and (ii) follows by Theorem A. Now the linearized equation of Eq. 5 . about the equilibrium point $\bar{y}_{2}=(r-1)^{\frac{1}{p+q+t}}$ is

$$
z_{n+1}=z_{n-(2 k-1)}-\frac{p(r-1)}{r} z_{n-(2 k+2)}-\frac{q(r-1)}{r} z_{n-2 k}-\frac{t(r-1)}{r} z_{n-(2 k-2)}
$$

for $n=0,1, \ldots$ and the associated characteristic equation about $\bar{y}_{2}$ is

$$
F(\lambda)=\lambda^{2 k+3}-\lambda^{3}+\frac{p(r-1)}{r}+\frac{q(r-1)}{r} \lambda^{2}+\frac{t(r-1)}{r} \lambda^{4}=0
$$

Since $F(-1)>0$ and $\lim _{\lambda \rightarrow-\infty} F(\lambda)=-\infty$, then there is $\lambda<-1$ such that $F(\lambda)=0$. Consequently, $\bar{y}_{2}$ is unstable. This completes the proof.

Theorem 1 Assume that $r>1$ and let $\left\{y_{n}\right\}_{n=-(2 k+2)}^{\infty}$ be a solution of Eq. (5) such that

$$
\begin{equation*}
y_{-(2 k+2)}, y_{-2 k} \ldots, \ldots, y_{0} \geq \bar{y}_{2} \text { and } y_{-(2 k+1)}, y_{-(2 k-1)}, \ldots, y_{-1}<\bar{y}_{2} \tag{6}
\end{equation*}
$$

or

$$
\begin{equation*}
y_{-(2 k+2)}, y_{-2 k} \ldots, y_{-2 m}, \ldots, y_{0}<\bar{y}_{2} \text { and } y_{-(2 k+1)}, y_{-(2 k-1)}, \ldots, y_{-1} \geq \bar{y}_{2} \tag{7}
\end{equation*}
$$

Then, $\left\{y_{n}\right\}_{n=-(2 k+2)}^{\infty}$ oscillates about $\bar{y}_{2}=(r-1)^{\frac{1}{p+q+t}}$ with semicycles of length one.

Proof. Assume that (6) holds. Then,

$$
y_{1}=\frac{r y_{-(2 k-1)}}{1+y_{-(2 k+2)}^{p} y_{-2 k}^{q} y_{-(2 k-2)}^{t}}<\bar{y}_{2},
$$

$$
y_{2}=\frac{r y_{1-(2 k-1)}}{1+y_{1-(2 k+2)}^{p} y_{1-2 k}^{q} y_{1-(2 k-2)}^{t}}>\bar{y}_{2}
$$

and

$$
y_{3}=\frac{r y_{2-(2 k-1)}}{1+y_{2-(2 k+2)}^{p} y_{2-2 k}^{q} y_{2-(2 k-2)}^{t}}<\bar{y}_{2} .
$$

The proof follows by induction. The case where (7) holds is similar and will be omitted. This completes the proof.

Theorem 2 Assume that $r<1$, then the equilibrium point $\bar{y}_{1}=0$ of Eq. (5) is globally asymptotically stable.

Proof. By Lemma 1, the equilibrium point $\overline{y_{1}}=0$ of Eq.(5) is locally asymptotically stable, when $r<1$. Let $\left\{y_{n}\right\}_{n=-(2 k+2)}^{\infty}$ be a solution of Eq. (5). We have $y_{n+1} \leq r y_{n-(2 k-1)}$. This implies that $y_{2 n k+m} \leq r^{n+1} y_{(m-1)-(2 k-1)}, n=1,2, \ldots$, $m=1,2, \ldots, 2 k$. Hence $\lim _{n \rightarrow \infty} y_{n}=0$. This completes the proof.

As a confirmation of the result obtained in Theorem 2 above, we present the following figures:


Fig. 1: $k=1$ and $r=0.8$


Fig. 3: $k=3$ and $r=0.9$


Fig. 2: $k=2$ and $r=0.7$


Fig. 4: $k=4$ and $r=0.6$

Theorem 3 Assume that $r>1$, then Eq. (5) possesses an unbounded solution $\left\{y_{n}\right\}_{n=-(2 k+2)}^{\infty}$ such that $\left\{y_{2 n m+i}\right\}_{n}$ increases to $\infty$ whenever $i$ is odd and decreases to 0 whenever $i$ is even, where $i=0,1, \ldots, 2 m-1$.

Proof. From Theorem 2, we may choose solution $\left\{y_{n}\right\}_{n=-(2 k+2)}^{\infty}$ of Eq. (5) such that $y_{2 n-1}<\bar{y}_{2}$ and $y_{2 n}>\bar{y}_{2}$ for each $n$. We can see that the sequence $\left\{y_{2 n k}\right\}_{n}$
increases to $l_{0}>\bar{y}_{2}$, where we allow for $l_{0}$ to be infinity. Indeed, we have

$$
\begin{equation*}
y_{2(n+1) k}=\frac{r y_{2 n k}}{1+y_{2 n k-3}^{p} y_{2 n k-1}^{q} y_{2 n k+1}^{t}}>y_{2 n k}>\bar{y}_{2} \tag{8}
\end{equation*}
$$

So it is easy to see that the sequences

$$
\left\{y_{2 n k-3}\right\}_{n},\left\{y_{2 n k-1}\right\}_{n} \text { and }\left\{y_{2 n k+1}\right\}_{n}
$$

decrease to three non-negative numbers, say $a_{1}, b_{1}$ and $c_{1}$ respectively which are less than $\bar{y}_{2}$. Assume as the sake of contradiction that $l_{0}<\infty$. Then taking the limit as $n \rightarrow \infty$ in Eq. 88, to obtain $1=r /\left(1+a_{1}^{p} b_{1}^{q} c_{1}^{t}\right)$.Hence $r-1=a_{1}^{p} b_{1}^{q} c_{1}^{t}<\bar{y}_{2}^{p+q+t}$ which is a contradiction. We conclude that $l_{0}=\infty$. Now the sequence $\left\{y_{2 n k+1}\right\}_{n}$ is decreasing to a non-negative number $l_{1}$. Indeed, we have

$$
\begin{equation*}
y_{2(n+1) k+1}=\frac{r y_{2 n k+1}}{1+y_{2 n k-2}^{p} y_{2 n k}^{q} y_{2 n k+2}^{t}}<y_{2 n k+1}<\bar{y}_{2} \tag{9}
\end{equation*}
$$

Similarly, $\left\{y_{2 n k+i}\right\}_{n}$ is increasing (decreasing) to $l_{i}<\overline{y_{2}}\left(l_{i}>\overline{y_{2}}\right), i$ is even ( $i$ is odd). As before we can see that the sequences

$$
\left\{y_{2 n k-2}\right\}_{n},\left\{y_{2 n k}\right\}_{n} \text { and }\left\{y_{2 n k+2)}\right\}_{n}
$$

increase to three elements $a_{2}, b_{2}$ and $c_{2}$ respectively which are greater than $\bar{y}_{2}$. Assume that $l_{1} \neq 0$. Taking the limit as $n \rightarrow \infty$ in Eq. 99, we get $r-1=a_{2}^{p} b_{2}^{q} c_{2}^{t}>$ $\bar{y}_{2}^{p+q+t}$ which is a contradiction. This implies that $l_{1}=0$. Similarly, we can show that $l_{i}=0, i=3,5, \ldots, 2 m-1$ and $l_{i}=\infty, i=2,4, \ldots, 2 m-2$.This completes the proof.

Again as a confirmation of the result obtained in Theorem 3 above, we present the following figures:


## References

[1] Amleh, A. M., V. Kirk, and G. Ladas, 2001. On the dynamics of $x_{n+1}=\left(a+b x_{n-1}\right) /$ $\left(A+B x_{n-2}\right)$. Math. Sci. Res. Hot-Line, 5:1-15.
[2] Battaloglu, N., C. Cinar and I. Yalcinkaya, 2010. The dynamics of the difference equations $x_{n+1}=\left(\alpha x_{n-k}\right) /\left(\beta+\gamma x_{n-(k+1)}^{p}\right)$. ARS Combinatoria, 97: 281-288.
[3] El-Metwally, H., 2009. Qualitative properties of some higher order difference equations. Computers and Mathematics with Applications, 58(4): 686-692.
[4] Elsayed, E.M., 2009. Qualitative behavior of difference equation of order two. Mathematical and Computer Modelling, 50(7-8): 1130-1141.
[5] El-Owaidy, H. M., A. M. Ahmed and M. S. Mousa, 2003. On the recursive sequences $x_{n+1}=$ $\left(-\alpha x_{n-1}\right) /\left(\beta \pm x_{n}\right)$. J. Appl. Math. Comput., 145: 747-753.
[6] Kocic, V. L. and G. Ladas, 1993. Global Behaviour of Nonlinear Difference Equations of High Order with Applications. Kluwer Academic, Dordrecht.
[7] Kulenovic, M. R. S. and O. Merino, 2002. Discrete Dynamical Systems and Difference Equations with Mathematica. Chapman \& Hall / CRC Press, Boca Raton / London.
[8] T. I. Saary, 1967. Modern Nonlinear Equations. McGraw Hill, Newyork.
[9] Yalcinkaya, I. and C. Cinar, 2010. On the dynamics of the difference equation $x_{n+1}=\left(a x_{n-k}\right)$ $/\left(b+c x_{n}^{p}\right)$. Fasciculi Mathematici, 42: 141-148.
[10] Yang, X., B. Chen, G. M. Megson and D. J. Evans, 2004. Global attractivity in a recursive sequence. Applied Mathematics and Computation, 158: 667-682.
H. El-Metwally, Department of Mathematics, Faculty of Science, Mansoura University, Mansoura 35516, Egypt.

E-mail address: eaash69@yahoo.com \& Corresponding author
İbrahim YALÇinKAYA, Necmettin Erbakan University, Faculty of Science, Department of Mathematics-Computer Sciences, 42090, Meram Yeni Yol, Konya, Turkey.

E-mail address: iyalcinkaya@konya.edu.tr
Cengiz Çinar, Gazi University, Gazi Education Faculty, Mathematics Department, 4BE EVLER-ANKARA, Turkey.

E-mail address: ccinar25@yahoo.com


[^0]:    1991 Mathematics Subject Classification. 39A10.
    Key words and phrases. Difference equations, Global stability, Oscillation, Semicycles. Submitted June 22, 2016.

